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Experimental data showed the following two relationships:
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Electrostatic C onstant (Coulomb' s constant) :
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Coulomb's Law: The electrostatic fbrce between two chargecl objects
product of the two charges and inversely proportional to the square of
and acts along a line joining their centers.

1. A proton and an electron are placed I .0 x 10-lo meter apart o (l(tÅ)
a Calculate the Coulomb force of attraction between them)
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in orbit about the nuclear proton (+e) at a radius of r :
5.29x10-tl m. Determine the speed of the electron,
assuming the orbit to be circul
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4. Three charges are placed along a line at the positions indicated. What is the net force on charge q1?
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5. The three charges are now placed at right angles, as shown
What is the net force on charge q¡?
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